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Solutions to Quiz #1 - Summer Reading Packet
Upcoming MTA2W/T classes

Find the slope of the line which goes through the points (2,-6) and (-7,-12).
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1%, Solve using the Quadratic Formula. 8. Find the distance between the following points:
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Find the Midpoint of the following points:
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What is the discriminant of the following equation?
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Determine the harmonic mean of 12 and 15
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Using the formula from the packet, find the sum of the first 100 numbers ( 1+2+3+...+100).
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Using the formula from the packet, find the sum of the first 20 squares (12 +22+3 .+ 202) .
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’ 14, Using the formula from the packet, find the sum of the first 15 cubes (I°+2°+3 +...+15").
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15 What is the law of sines you would use if you knew Z4, ZC, and side ¢ ?
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| 16.  What is the law of cosines you would use if you wanted to solve for ZB ?
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18.  Given the following polynomial, f(x) é%‘@&’ +4x% ~ ?:@Mnd the... |
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19.  Given the following polynomial, f(x) {2}‘;@7 +3x° +7x* ~6x+13, find the . ..
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| 20.  Find the sum of the measures of interior angles of a polygon with 12 sides: B
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| 21.  From the number 2520, find the ...
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Dz. Determine the number of diagonals of a convex polygon with 20 sides.
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|23, Determine the sum of the terms in the 12 row of Pascal’s triangle.
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‘ 24, Find the sum of the coefficients (and constants) in the expansion of (3x3 . 2)
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25.  What are the first 4 perfect numbers?

G, 2%, 446, 8123

26.  Write the following repeating decimal as a fraction in simplest terms.
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